Physics Challenge Question 22:  Power and Electricity

Due in class Wednesday 4/29/2009

Part 1  (1 point)

Using what you have learned about electric circuits, derive two new equations for power dissipated in a resistor.  One must depend only on I and R, and the other only on V and R.

Part 2  (2 points)

A 3  light bulb and a 6  light bulb are connected in series, and then hooked up to a battery.

Which one of the two will shine the brightest, and by how much?


Part 3  (2 points)

The same light bulbs from part 1 are now connected in parallel to a battery.

Which one of the two will now shine the brightest, and by how much?
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